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QUESTION 1

A developer wants to ensure that each incoming row of fact data has a corresponding location code from a dimension
table. What should the developer create? 

A. Lookup 

B. Dimensional determinant 

C. Member determinant 

D. Identifier 

Correct Answer: A 

 

 

QUESTION 2

When executing a fact build, a developer wants to estimate the amount of input resources that the build will require, but
does not want to deliver any data. What execution mode should be selected? 

A. Test 

B. Check Only 

C. Object Creation 

D. Preproduction 

Correct Answer: B 

 

QUESTION 3

In which Data Manager object does a developer specify the attributes of a conformed dimension, such as the surrogate
keys that it contains? 

A. Reference dimension 

B. Connection 

C. Transformation model 

D. Template 

Correct Answer: D 

 

QUESTION 4
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A developer wants to deliver fact data to a relational table. When the fact build is executed, any new rows must be
added to this table. However, if an incoming row has the same key as a row that already exists in this table, the existing
row must be updated accordingly. What should the developer do? 

A. Set the refresh type for the relational table delivery module to UPDATE. 

B. Set the refresh type for the relational table delivery module to TRUNCATE. 

C. Set the refresh type for the relational table delivery module to UPDATE/INSERT. 

D. Set the refresh type for the relational table delivery module to REPLACE. 

E. Set the refresh type for the relational table delivery module to APPEND. 

F. Set the refresh type for the relational table delivery module to INSERT. 

Correct Answer: C 

 

 

QUESTION 5

Which of the following is true of packages in Data Manager? 

A. User-defined folders cannot be exported. 

B. During importing, duplicate components are automatically renamed. 

C. User-defined folders cannot be imported. 

D. During importing, dependent components are automatically selected. 

Correct Answer: D 

 

QUESTION 6

A lookup has been created to enable translation of incoming currency values (such as the US dollar) into another
currency (such as the Euro). What should be done? 

A. Reference the lookup in the properties of the affected dimension build(s). 

B. Create a measure dimension which references the conversion rate. 

C. Create a derivation which uses the reference atttributes of the lookup. 

D. Move the lookup to a fact build conversion map. 

Correct Answer: C 

 

QUESTION 7
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Which element does Data Manager use to identify duplicate rows? 

A. Dimension 

B. Attribute 

C. Measure 

D. Index 

Correct Answer: A 

 

 

QUESTION 8

A dimension table contains the following data: 

If late arriving fact processing is enabled, what will be the value of the surrogate key assigned to the last row of fact
data? 

A. 11110 

B. 11111 

C. 11112 

D. 11113 

Correct Answer: B 

 

QUESTION 9
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What can be seen with Reference Explorer that cannot be seen when using SQLTerm to examine the data? 

A. Hierarchical data from two database connections. 

B. Number of rows in the data source used to build the hierarchy. 

C. Number of tables in the data source used to build the hierarchy. 

D. Columns from which the member data was obtained. 

Correct Answer: A 

 

QUESTION 10

Which of the following is true of a dimension build? 

A. It uses literals to define the behavior of each column of a dimension table. 

B. It can generate PowerCubes, Framework Manager models, and Cognos 8 reports. 

C. It can deliver data to a single, "private" data mart. 

D. It uses a template to define the behavior of each column of a dimension table. 

Correct Answer: D 

 

QUESTION 11

How can a developer nest a JobStream within another JobStream? 

A. Execute the first JobStream from the command line, and reference the second JobStream in the command. 

B. Add a procedure node to the JobStream. 

C. Execute the first JobStream using the Data Movement Service, and include the second JobStream in the resulting
task. 

D. Add a JobStream node to the JobStream. 

Correct Answer: D 

 

 

QUESTION 12

Which of the following is are characteristics of surrogate keys? (choose three) 

A. Are numbers. 

B. Tend to be larger than keys from operational systems. 
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C. Are text-based. 

D. Are replaced by business keys in the data warehouse. 

E. Have no intrinsic meaning. 

F. Are unique. 

Correct Answer: AEF 
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